
Multiplying Decimals by 0.1, 0.01, 0.001 (A)

409.5 x 0.1 = 0.06 x 0.01 = 0.604 x 0.001 =

44.75 x 0.1 = 3.447 x 0.1 = 0.81 x 0.1 =

0.09 x 0.1 = 0.002 x 0.1 = 0.6 x 0.01 =

19.6 x 0.1 = 8.42 x 0.001 = 8.11 x 0.01 =

73.7 x 0.1 = 0.7 x 0.001 = 0.471 x 0.001 =

0.66 x 0.001 = 0.35 x 0.001 = 5.119 x 0.1 =

176.3 x 0.1 = 6.25 x 0.1 = 0.044 x 0.001 =

0.918 x 0.001 = 76.04 x 0.001 = 8.644 x 0.01 =

0.019 x 0.1 = 0.64 x 0.001 = 7.858 x 0.001 =

3.86 x 0.01 = 0.06 x 0.001 = 0.7 x 0.01 =

0.4 x 0.1 = 0.007 x 0.001 = 87.05 x 0.1 =

0.006 x 0.01 = 13.07 x 0.01 = 3.7 x 0.001 =

50.23 x 0.1 = 5.9 x 0.1 = 3.23 x 0.01 =

7.83 x 0.001 = 0.005 x 0.001 = 0.937 x 0.1 =

0.96 x 0.001 = 0.064 x 0.01 = 97.28 x 0.01 =
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Multiplying Decimals by 0.1, 0.01, 0.001 (A) Answers

409.5 x 0.1 = 40.95 0.06 x 0.01 = 0.0006 0.604 x 0.001 = 0.000604

44.75 x 0.1 = 4.475 3.447 x 0.1 = 0.3447 0.81 x 0.1 = 0.081

0.09 x 0.1 = 0.009 0.002 x 0.1 = 0.0002 0.6 x 0.01 = 0.006

19.6 x 0.1 = 1.96 8.42 x 0.001 = 0.00842 8.11 x 0.01 = 0.0811

73.7 x 0.1 = 7.37 0.7 x 0.001 = 0.0007 0.471 x 0.001 = 0.000471

0.66 x 0.001 = 0.00066 0.35 x 0.001 = 0.00035 5.119 x 0.1 = 0.5119

176.3 x 0.1 = 17.63 6.25 x 0.1 = 0.625 0.044 x 0.001 = 0.000044

0.918 x 0.001 = 0.000918 76.04 x 0.001 = 0.07604 8.644 x 0.01 = 0.08644

0.019 x 0.1 = 0.0019 0.64 x 0.001 = 0.00064 7.858 x 0.001 = 0.007858

3.86 x 0.01 = 0.0386 0.06 x 0.001 = 0.00006 0.7 x 0.01 = 0.007

0.4 x 0.1 = 0.04 0.007 x 0.001 = 0.000007 87.05 x 0.1 = 8.705

0.006 x 0.01 = 0.00006 13.07 x 0.01 = 0.1307 3.7 x 0.001 = 0.0037

50.23 x 0.1 = 5.023 5.9 x 0.1 = 0.59 3.23 x 0.01 = 0.0323

7.83 x 0.001 = 0.00783 0.005 x 0.001 = 0.000005 0.937 x 0.1 = 0.0937

0.96 x 0.001 = 0.00096 0.064 x 0.01 = 0.00064 97.28 x 0.01 = 0.9728
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